

Research Article

Microscopic and Histochemical Assessment of Structural Changes in the Human Thyroid Gland across Different Age Groups

Dr. Nida Aslam¹, Dr. Samah Fatima Qasarani^{2*}, Dr. Ayesha Fuad³

¹Fellow Pediatrics Endocrinology and Diabetes, University of Child health sciences, The Children's Hospital Lahore.

^{2*}Assistant Professor Anatomy Department, DG Khan Medical College, DG Khan.

³Assistant Professor Anatomy, HBS Medical and Dental College Islamabad.

Email: ^{2*}samahfatima56@gmail.com, ³ayesha.fuad@gmail.com

Corresponding Author: Dr. Samah Fatima Qasarani

Assistant Professor Anatomy Department, DG Khan Medical College, DG Khan.

Received: 26.07.2026, Revised: 15.09.2026, Accepted: 25.09.2026

ABSTRACT

Background: Aging is associated with progressive structural and functional changes in the thyroid gland.

Objective: To assess microscopic and histochemical structural changes in the human thyroid gland across different age groups.

Methods: This comparative cross-sectional histomorphological study was conducted at Anatomy department in collaboration with Medicine department of DG Khan Medical College, DG Khan from January 2026 to June 2026, included 90 human thyroid specimens divided equally into three age groups: 18-35 years, 36-55 years, and 56-75 years. Routine hematoxylin and eosin staining was performed to assess general thyroid architecture, follicular size and shape, epithelial cell height, colloid content, stromal changes, vascularity, and the presence of age-related structural alterations.

Results: Mean follicular diameter increased significantly from $112.36 \pm 18.42 \mu\text{m}$ in the youngest group to $128.71 \pm 21.55 \mu\text{m}$ and $151.84 \pm 25.63 \mu\text{m}$ in the middle and older groups, respectively ($p < 0.001$). Follicular epithelial height decreased from $8.42 \pm 1.31 \mu\text{m}$ to $7.36 \pm 1.24 \mu\text{m}$ and $6.18 \pm 1.17 \mu\text{m}$ ($p < 0.001$). Colloid area increased from $54.63 \pm 7.85\%$ to $61.72 \pm 8.41\%$ and $69.58 \pm 9.12\%$, while stromal connective tissue increased from $11.48 \pm 3.62\%$ to $16.37 \pm 4.18\%$ and $23.76 \pm 5.43\%$ ($p < 0.001$). Irregular follicles, epithelial flattening, stromal fibrosis, vascular wall thickening, and lymphocytic infiltration were more frequent with advancing age.

Conclusion: Advancing age was associated with progressive follicular enlargement, epithelial flattening, colloid accumulation, reduced vascularity, increased fibrosis, and greater collagen deposition in the human thyroid gland.

Keywords: Thyroid Gland, Aging, Histology, Histochemistry, PAS Staining, Masson's Trichrome, Follicular Changes.

INTRODUCTION

Thyroid hormones are important hormones produced by thyroid gland which has a central role in the regulation of metabolism, growth and development as well as energy balance [1]. It is structurally made up of many small spherical follicles lined by follicular epithelial cells and filled with colloid with thyroglobulin in it. The delicate connective tissue framework, and rich capillary network surrounding the follicles, are important for hormone synthesis and secretion [2]. In addition, there are parafollicular cells in the gland which help to regulate calcium through the secretion of calcitonin [3]. The thyroid gland is different at different stages of life. In younger animals, the follicles tend to be more regular, the cuboidal

epithelial cells are active and the distribution of the colloid is fairly uniform [4]. As age increases, there may be changes in the size of the follicles, height of the epithelium, colloid size, stromal tissue, and vascular tissue. Follicular enlargement, flattening of the epithelial cells, irregular follicular outline and an increase in connective tissue may also occur with age [5]. These changes may be due to a gradual change in the thyroid activity and also to the remodeling of tissues without actually the presence of thyroid disease. The follicular epithelium is, specifically, important when evaluating thyroid activity. A higher epithelial cell height is correlated with a higher functional activity while a flatter cell is correlated with a

relatively inactive cell [6]. As the age increases, the accumulation of colloid and the widening of the diameter of the follicles have also been linked together [7]. Older glands may show a greater degree of connective tissue, and some degree of fibrosis and stromal thickening may be more apparent [8]. Some of the other alterations reported in the ageing process are those of the blood vessels, such as thickening of vessel walls and decrease in microvascular organization [9].

Histochemical techniques can be utilized to provide information which cannot always be gained from routine hematoxylin and eosin staining. Carbohydrate-rich glycoproteins in thyroid colloid and basement membranes can be shown using periodic acid–Schiff staining [10]. The variation in staining intensity in PAS could be due to variations in the quantity and quality of thyroglobulin in the follicles [11]. Special stains for collagen may also be useful for the identification of age-related increases in connective tissue and fibrosis [12]. These methods enable evaluation of microscopic changes in structure along with the changes in tissue composition. Recent research has indicated that cellular metabolism, mitochondrial function, immune activity and gene expression also change as the thyroid ages [13]. Inflammatory and stromal changes that occur with age can be involved in changes to normal thyroid architecture [14]. Molecular analysis has also shown that there are variations in the follicular cell population and cellular stress pathways in older thyroid tissue [15]. The knowledge of these normal age-related changes is valuable because some of these changes can mimic early pathological changes.

Objective

To assess microscopic and histochemical structural changes in the human thyroid gland across different age groups.

METHODOLOGY

This comparative cross-sectional histomorphological study was conducted at Anatomy department in collaboration with Medicine department of DG Khan Medical College, DG Khan from January 2026 to June 2026. Specimens with known thyroid disease, gross nodules, malignancy, previous thyroid surgery, or marked autolytic changes were excluded. The included specimens were divided into predefined age groups, such as young adults, middle-aged adults, and older adults.

Representative tissue samples were taken from both thyroid lobes, fixed in 10% neutral buffered formalin, processed routinely, embedded in paraffin, and sectioned at approximately 4–5 μ m thickness.

Data Collection

Routine hematoxylin and eosin staining was performed to assess general thyroid architecture, follicular size and shape, epithelial cell height, colloid content, stromal changes, vascularity, and the presence of age-related structural alterations. Periodic acid–Schiff staining was used to assess glycoprotein-rich colloid and basement membrane changes, while Masson's trichrome staining was used to evaluate connective tissue and fibrosis. Microscopic assessment was performed under standardized magnification. Quantitative measurements included mean follicular diameter, follicular epithelial height, proportion of colloid-filled follicles, and extent of stromal connective tissue. Histochemical staining intensity was graded using a predefined scoring system. Where available, digital image-analysis software was used to improve measurement accuracy. All observations were recorded on a structured data collection proforma.

Statistical Analysis

Data were entered and analyzed using SPSS version 26.0. Quantitative variables such as follicular diameter, epithelial height, and connective tissue proportion were expressed as mean $\pm$ SD or median with interquartile range, depending on data distribution. Normality was assessed using the Shapiro–Wilk test. Differences among age groups were analyzed using one-way ANOVA for normally distributed variables or the Kruskal–Wallis test for non-normal data. Categorical variables and histochemical staining grades were compared using the Chi-square test or Fisher's exact test where appropriate. Post-hoc analysis was performed when significant differences were identified between age groups. A p-value ≤ 0.05 was considered statistically significant.

RESULTS

The study included 90 thyroid specimens, with 30 participants in each age group. Mean age was 27.43 $\pm$ 5.12 years in the 18–35-year group, 45.67 $\pm$ 5.48 years in the 36–55-year group, and 64.20 $\pm$ 5.71 years in the 56–75-year group, with an overall mean age of 45.77 $\pm$ 15.89 years ($p < 0.001$). Males and females were equally

represented overall, 45 (50.0%) each, with no significant gender difference between groups ($p=0.875$). Right lobe specimens accounted for

48 (53.3%) and left lobe specimens for 42 (46.7%), with no significant difference across age groups ($p=0.870$).

Table I. Baseline Characteristics of Thyroid Specimens According To Age Group

Variable	18–35 years (n=30)	36–55 years (n=30)	56–75 years (n=30)	Total (n=90)	p-value
Age, years, Mean±SD	27.43±5.12	45.67±5.48	64.20±5.71	45.77±15.89	<0.001
Male, n (%)	16 (53.3)	15 (50.0)	14 (46.7)	45 (50.0)	0.875
Female, n (%)	14 (46.7)	15 (50.0)	16 (53.3)	45 (50.0)	
Right lobe specimen, n (%)	17 (56.7)	16 (53.3)	15 (50.0)	48 (53.3)	0.870
Left lobe specimen, n (%)	13 (43.3)	14 (46.7)	15 (50.0)	42 (46.7)	

With advancing age, mean follicular diameter increased from $112.36\pm18.42\ \mu\text{m}$ to $128.71\pm21.55\ \mu\text{m}$ and $151.84\pm25.63\ \mu\text{m}$, while epithelial height decreased from $8.42\pm1.31\ \mu\text{m}$ to $7.36\pm1.24\ \mu\text{m}$ and $6.18\pm1.17\ \mu\text{m}$. Colloid area increased from $54.63\pm7.85\%$ to $61.72\pm8.41\%$ and $69.58\pm9.12\%$, while stromal

connective tissue increased from $11.48\pm3.62\%$ to $16.37\pm4.18\%$ and $23.76\pm5.43\%$. Vascular density decreased from 8.83 ± 2.14 to 7.73 ± 1.96 and 6.47 ± 1.82 vessels/high-power field. All differences were statistically significant ($p<0.001$).

Table II. Quantitative Microscopic Changes in the Thyroid Gland across Age Groups

Histological Parameter	18–35 years	36–55 years	56–75 years	Test statistic	p-value
Follicular diameter, μm , Mean±SD	112.36 ± 18.42	128.71 ± 21.55	151.84 ± 25.63	$F=24.76$	<0.001
Follicular epithelial height, μm , Mean±SD	8.42 ± 1.31	7.36 ± 1.24	6.18 ± 1.17	$F=24.91$	<0.001
Colloid area, %, Mean±SD	54.63 ± 7.85	61.72 ± 8.41	69.58 ± 9.12	$F=22.80$	<0.001
Stromal connective tissue, %, Mean±SD	11.48 ± 3.62	16.37 ± 4.18	23.76 ± 5.43	$F=55.12$	<0.001
Vascular density, vessels/high-power field, Mean±SD	8.83 ± 2.14	7.73 ± 1.96	6.47 ± 1.82	$F=10.86$	<0.001

Age-related microscopic changes became more frequent in older individuals. Irregular follicles increased from 4 (13.3%) to 11 (36.7%) and 22 (73.3%), flattened epithelium from 3 (10.0%) to 10 (33.3%) and 21 (70.0%), and colloid accumulation from 6 (20.0%) to 15 (50.0%) and 23 (76.7%). Stromal fibrosis

increased from 2 (6.7%) to 9 (30.0%) and 20 (66.7%), while vascular wall thickening rose from 2 (6.7%) to 8 (26.7%) and 18 (60.0%). Focal lymphocytic infiltration was seen in 3 (10.0%), 7 (23.3%), and 12 (40.0%) patients. All changes were significant, with $p<0.001$ except lymphocytic infiltration ($p=0.027$).

Table III. Frequency of Microscopic Structural Changes across Different Age Groups

Microscopic Feature	18–35 years n (%)	36–55 years n (%)	56–75 years n (%)	χ^2	p-value
Irregularly shaped follicles	4 (13.3)	11 (36.7)	22 (73.3)	22.86	<0.001
Flattened follicular epithelium	3 (10.0)	10 (33.3)	21 (70.0)	23.44	<0.001
Colloid accumulation	6 (20.0)	15 (50.0)	23 (76.7)	19.34	<0.001
Stromal fibrosis	2 (6.7)	9 (30.0)	20 (66.7)	24.80	<0.001

Vascular wall thickening	2 (6.7)	8 (26.7)	18 (60.0)	20.53	<0.001
Focal lymphocytic infiltration	3 (10.0)	7 (23.3)	12 (40.0)	7.24	0.027

Histochemical changes also increased with age. Mean PAS staining score rose from 1.63 ± 0.56 in younger adults to 2.07 ± 0.64 in middle-aged adults and 2.47 ± 0.57 in older adults ($p < 0.001$). Strong PAS positivity increased from 5 (16.7%) to 12 (40.0%) and 20 (66.7%). The

mean Masson's trichrome fibrosis score increased from 0.77 ± 0.50 to 1.43 ± 0.63 and 2.20 ± 0.66 , while moderate/severe collagen deposition increased from 3 (10.0%) to 11 (36.7%) and 22 (73.3%). These differences were statistically significant ($p < 0.001$).

Table IV. Histochemical Findings According To Age Group

Histochemical Parameter	18–35 years	36–55 years	56–75 years	Test statistic	p-value
PAS staining score, Mean $\pm$ SD	1.63 ± 0.56	2.07 ± 0.64	2.47 ± 0.57	F=14.83	<0.001
Strong PAS positivity, n (%)	5 (16.7)	12 (40.0)	20 (66.7)	$\chi^2=15.43$	<0.001
Masson's trichrome fibrosis score, Mean $\pm$ SD	0.77 ± 0.50	1.43 ± 0.63	2.20 ± 0.66	F=43.07	<0.001
Moderate/severe collagen deposition, n (%)	3 (10.0)	11 (36.7)	22 (73.3)	$\chi^2=25.24$	<0.001

Histochemical scoring: 0=absent, 1=mild, 2=moderate, 3=strong/severe.

DISCUSSION

In the present study the age related changes in the human thyroid glands were clearly shown at microscopic and histochemical levels. Follicular diameter progressively increased from $112.36 \pm 18.42 \mu\text{m}$ in individuals aged 18–35 years to $128.71 \pm 21.55 \mu\text{m}$ in those aged 36–55 years and $151.84 \pm 25.63 \mu\text{m}$ in the 56–75-year group ($p < 0.001$). In contrast, follicular epithelial height decreased from $8.42 \pm 1.31 \mu\text{m}$ to $7.36 \pm 1.24 \mu\text{m}$ and $6.18 \pm 1.17 \mu\text{m}$, respectively ($p < 0.001$). This is consistent with previous normal human thyroid tissue studies which showed that the mean follicular diameter increased with age, with younger age groups showing significantly smaller follicles than older age groups ($p < 0.001$) [16][17]. The changes point to a progressive expansion of follicles with a decrease in the activity of the epithelium with age. These morphometric alterations were confirmed by the qualitative microscopic results. The percentage of irregularly shaped follicles grew from 13.3 per cent in the youngest group to 36.7 per cent in the middle age group and 73.3 per cent in the oldest group ($p < 0.001$). The increase from 10.0% to 33.3% and 70.0% was also similar in flat epithelial cells of follicles ($p < 0.001$). The histological features of thyroid gland changes which had been found in the previous studies and which were also seen in the older age group were follicular enlargement, significant difference in size of the follicles, increased irregularity, dilated follicles and age-related abnormalities in the epithelial cells of the follicles [18]. These

findings are similar to each other, which helps validate the hypothesis that irregularity of the thyroid follicles and flattening of the epithelial cells is a hallmark of ageing of the thyroid. The age dependent variations in the colloid content were also significant. The mean colloid area was $54.63 \pm 7.85\%$ in younger people, $61.72 \pm 8.41\%$ in middle-aged people, and $69.58 \pm 9.12\%$ in the older people ($p < 0.001$). Similarly, visible accumulation of colloids was seen in 20.0%, 50.0% and 76.7% of the three age groups respectively. The light microscopy and histochemical studies of 83 human thyroid glands conducted earlier showed that there was an age-related rise in follicular colloid density and that progressive biochemical and physical changes in the follicular colloid occurred with age [19]. This is likely to reflect a relative decrease in activity of follicles with age, as the increase in colloid is coupled with a decrease in epithelial height. One thing that was especially striking is the progressive increase of stromal connective tissue. The mean values of stromal connective tissue were $23.76 \pm 5.43\%$ in the oldest group and $16.37 \pm 4.18\%$ in the middle aged group and $11.48 \pm 3.62\%$ in the youngest group ($p < 0.001$). Only 6.7% of younger specimens showed stromal fibrosis while 30.0% of middle aged and 66.7% of older specimens showed stromal fibrosis. Previous quantitative studies of aged human thyroids also showed that the connective tissue content became more and more prominent, becoming preponderant in old age [20]. In the elderly humans, thyroid fibrosis has also been

observed within the extracellular matrix by histological examination of old human thyroid tissue, which corroborates the present findings. Recent molecular studies confirm these structural observations. Single-cell RNA sequencing of pathologically normal human thyroid tissue showed fibrotic genes were more highly expressed in older age, there was a slight increase in the number of fibroblasts, and fibrotic signaling pathways were more activated by TGF- β [21]. The molecular changes that occurred may account for the higher stromal connective tissue percentage and fibrosis scores that were noted on the microscopic examination of the older age group in the present study. Another significant aspect of aging was the vascular changes. Mean vascular density decreased significantly from 8.83 ± 2.14 vessels/high-power field in the 18–35-year group to 7.73 ± 1.96 in the 36–55-year group and 6.47 ± 1.82 in the 56–75-year group ($p < 0.001$). Meanwhile, the vascular wall thickening rose from 6.7% to 26.7% and 60.0% respectively. We also compared young and aged human endocrine tissues to find a significant decrease in the number of microvessels and arterial numbers in aged human thyroid gland as was previously shown in other studies. Since the thyroid requires an extensive microvascular network for production and release of thyroid hormones, decreased vascularity can contribute to the changes in tissue maintenance and endocrine function seen with age. 10.0% of younger, 23.3% of middle aged and 40.0% of older specimens showed focal lymphocytic infiltration with a statistically significant difference between the groups ($p = 0.027$). Previous studies on the thyroid glands of the elderly has showed focal lymphocytic infiltration in 17.2% of specimens and suggested that this finding may be an age-associated immunological process or an autoimmune process. This study had several limitations. Using a limited number of thyroid specimens in a relatively confined area can limit generalizability. The cross-sectional design does not allow the measurement of structural changes over time in the same individuals. Specimens from patients with known thyroid disease were excluded, but subclinical thyroid hormone and/or autoimmune disorders were not ruled out completely. Histochemical scoring was of a semi-quantitative nature, and may be subject to some observer variation. Moreover, other iodine, thyroid hormone, medication, smoking and metabolic disorders were not accounted for.

CONCLUSION

The study demonstrated clear age-related microscopic and histochemical changes in the human thyroid gland. Advancing age was associated with increased follicular diameter, greater colloid accumulation, more stromal connective tissue and fibrosis, stronger PAS positivity, and increased collagen deposition. In contrast, follicular epithelial height and vascular density progressively decreased with age. Irregular follicles, flattened epithelium, vascular wall thickening, and focal lymphocytic infiltration were also more common in older individuals. These findings suggest that normal aging produces progressive structural and tissue-compositional changes in the thyroid gland that should be considered during histopathological assessment.

REFERENCES

1. Lee J, Yi S, Kang YE, Kim HW, Joung KH, Sul HJ, et al. Morphological and functional changes in the thyroid follicles of the aged murine and humans. *J Pathol Transl Med*. 2016;50(6):426-435. doi:10.4132/jptm.2016.07.19.
2. Hong Y, Kim HJ, Park S, Yi S, Lim MA, Lee SE, et al. Single cell analysis of human thyroid reveals the transcriptional signatures of aging. *Endocrinology*. 2023;164(4):bqad 029. doi:10.1210/endo/bqad029.
3. Chen J, Lippo L, Labella R, Tan SL, Marsden BD, Dustin ML, et al. Decreased blood vessel density and endothelial cell subset dynamics during ageing of the endocrine system. *EMBO J*. 2021;40(1):e105242. doi:10.15252/embj.2020105242.
4. Faggiano A, Coulot J, Bellon N, Talbot M, Caillou B, Ricard M, et al. Age-dependent variation of follicular size and expression of iodine transporters in human thyroid tissue. *J Nucl Med*. 2004;45(2):232-237.
5. Brown RA, Al-Moussa M, Beck J. Histometry of normal thyroid in man. *J Clin Pathol*. 1986;39(5):475-482. doi:10.1136/jcp.39.5.475.
6. Harris M, Palmer MK. The structure of the human thyroid in relation to ageing and focal thyroiditis. *J Pathol*. 1980;130(2):99-104. doi:10.1002/path.1711300206.
7. Rother P. Histometric volume determination in aging human thyroid

- glands and possible errors of this method. *Gegenbaurs Morphol Jahrb.* 1979;125(1):38-48.
8. Ukhov YI, Kolobaev AV, Voronina RK, Burzhinskiy AA, Levitin AV. Polymorphism of the human thyroid colloid as a physico-chemical and biological phenomenon. *Morfologiya.* 2009;136(5): 55-60.
9. Blumenthal HT, Perlstein IB. The aging thyroid. I. A description of lesions and an analysis of their age and sex distribution. *J Am Geriatr Soc.* 1987;35(9):843-854. doi:10.1111/j.1532-5415.1987.tb02337.x.
10. Blumenthal HT, Perlstein IB. The aging thyroid. II. An immunocytochemical analysis of the age-associated lesions. *J Am Geriatr Soc.* 1987;35(9):855-863. doi:10.1111/j.1532-5415.1987.tb02338.x.
11. Kurashima C, Hirokawa K. Focal lymphocytic infiltration in thyroids of elderly people: histopathological and immunohistochemical studies. *Surv Synth Pathol Res.* 1985;4(5-6):457-466. doi:10.1159/000156996.
12. Okayasu I, Hatakeyama S, Tanaka Y, Sakurai T, Hoshi K, Lewis PD. Is focal chronic autoimmune thyroiditis an age-related disease? Differences in incidence and severity between Japanese and British. *J Pathol.* 1991;163(3):257-264. doi:10.1002/path.1711630312.
13. Okayasu I, Hara Y, Nakamura K, Rose NR. Racial and age-related differences in incidence and severity of focal autoimmune thyroiditis. *Am J Clin Pathol.* 1994;101(6):698-702. doi:10.1093/ajcp/101.6.698.
14. Katoh R, Suzuki K, Hemmi A, Kawaoi A. Nature and significance of calcium oxalate crystals in normal human thyroid gland: a clinicopathological and immunohistochemical study. *Virchows Arch A Pathol Anat Histopathol.* 1993;422(4):301-306. doi:10.1007/BF01608339.
15. Sultana SZ, Khan MK, Sultana S, Rahman MH, Khalil M, Khalil M. Histomorphometric study of thyroid gland of Bangladeshi people. *Mymensingh Med J.* 2007;16(1):36-42. doi:10.3329/mmj.v16i1.246.
16. Tanriover O, Comunoglu N, Eren B, Comunoglu C, Turkmen N, Bilgen S, et al. Morphometric features of the thyroid gland: a cadaveric study of Turkish people. *Folia Morphol (Warsz).* 2011;70(2):103-108.
17. Bocian-Sobkowska J, Malendowicz LK, Woźniak W. Morphometric studies on the development of human thyroid gland in early fetal life. *Histol Histopathol.* 1992;7(3):415-420.
18. Kubacki J, Panasiewicz M, Mierwa A. Staining of colloid in various age groups: the aging of the thyroid. *Patol Pol.* 1975;26(4):511-515.
19. Morna MT, Tuoyire DA, Jimah BB, Rahman GA, Eliason S, Appiah AB. A community-based ultrasound determination of normal thyroid volumes in the adult population, Assin North District, Ghana. *Pan Afr Med J.* 2020;37:251. doi:10.11604/pamj.2020.37.251.20778.
20. Ittermann T, Angelow A, Chenot JF, Völzke H, Heier M, Linkohr B, et al. Thyroid volume—new reference values for defining thyroid enlargement. *Eur J Endocrinol.* 2025;192(6):728-736. doi:10.1093/ejendo/lvaf108.
21. Moisa-Luca L, Bena A, Bunceanu S, Stoian D. Establishing reference values for thyroid vascularity using ultra-micro angiography ultrasound technology. *Diagnostics (Basel).* 2025;15(4):471. doi:10.3390/diagnostics15040471.